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1. (a) <& 32 °5c1 4T - 1x4=4
Fill in the blanks :
() TERAI EmOORRE R onR, ez
FHYFFFEE ST |

The value of the firm can be
maximized, if the shareholders
wealth is y
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(b) 361 7 fagy feran -

(ii)

(ii7)

()

(2)

REGEG wfeRy 4 2F SRR
R faan srene R |

Cost of retained earnings is the
of dividends foregone by the

shareholders.

— weA  wp, woned B
AR |

According to Model, the
dividend decision is irrelevant.
IR JALTP T4 Jfele (T 27 |

Working capital is also known as
capital.

Write True or False :

(i) TR oo 2'H NP =E 2P0 A
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Jeigeq S |

Capital structure is the mix of
preference and equity share capital.

(i) -G PiRTT e 9b 451 459

e GiA A |

Payback period method measures
the true profitability of a project.

1x4=4



(3)

(iii) TSI I O3 FAsice S IS
Gow (2 AT |

Payment of dividend involves legal
as well as financial considerations.

(iv) oS FHFA Joge T Bfers (T S
ofere Seoifey SfeReal |

Net working capital is the excess of
current assets over current

liabilities.

2. oo FAERT R @ bR 5 G fadn : 4x3=12
Write short notes on any three of the

following :

(@) wFA FALR A

Optimal Capital Structure

(b) TALA ACHG
Capital Budgeting

() TTEIRTR AFFER
Types of Dividend

(d) IR T IRFOAR AEEATS
Need of Working Capital Management
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4.

(a)

(b)

(B

“oreq R REGEER P e Sowh
f2oreet me,ﬁgzumwﬂmﬁﬂaﬁﬁas
TR W@ el e 1 W
“Maximization of profits 1S regarded as
the proper objective of investmc?nt
decision, but it is not as excluswi
as maximizing shareholders’ wealth.
Comment.

<1/ Or

CoTER Tl RS 20,00,000 5, RSN T
14,00,000 %, f&1 < 4,00,000 51 S
10% 3<% T¥© 10,00,000 G 4 |

WAACafoL, e = Sicge ferercaw a1 41 |

10

3,+3%+3=10

Gohain firm has Sales of T 20,00,000,
Variable Costs of < 14,00,000, Fixed
Costs of T 4,00,000 and Debt of
< 10,00,000 at 10% rate of interest.

Calculate Operating, Financial and
Combined Leverages.

(@ (i) X ffScoces S9z9® 50,000 T3 8%
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G TR FE|I @EANIOGR CFaS
IE T W 50% | ] TR @6
N 4T |

X Ltd. issues T 50,000, 8%
debentures at par. The tax rate
applicable to the company is 50%.
Compute the Cost of Debt Capital.

( Continued )



(A5

() v fficeee 10% fafm@e 50,000 IRl
89, Aeeld TR IR | @EAIAIOR (IS
o qTE) 94 T 60% | YR AL R 1
arefell 41 |
v Ltd. issues < 50,000, 8%
debentures at a premium of 10%.
The tax rate applicable to the
company is 60%. Compute Cost of
Debt Capital.

(iii) A fHf6ce 5% @zz® 50,000 GF1 8%
4o SR @ | F A 50% | FM
ToRR XqE S B :
A Ltd. issues T 50,000, 8%
debentures at a discount of 5%. The
tax rate is 50%. Compute Cost of
Debt Capital.

(iv) B faficeee 10% ifiarae 1,00,000 G
9% A@ TR A | SPEE FII A0
2% | mwméo%lwqagaw
%5 S 41 |
B Ltd. issues < 1,00,000, 9%
debentures at a premium of 10%.
The costs of flotation are 2%. The
tax rate applicable is 60%. Compute

Cost of Debt Capital. 2Y2x4=10
3]1/ Or
b) TR R gese TIReR { e s
gFed Tafes RE SCEms-1 =41 | 10

Discuss any four important methods of
evaluating capital investment project.
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(b)

(6)

a1 elfevrm wsneE Prargs deilde fafs

10
BTPIE2 A4 el |

. ; ich
Explain the various factors whic

influence the dividend decision of a firm.
q<1/ Or

AN PR EerbE ¢fe cfefannfer-
Aoy e o @ @ e HS
PramEcaE e 2y 2 6+4=10

What is the Modigliani-Miller approach
of irrelevance concept of dividend?

Under what assumptions to the
conclusions hold good?

ABC ffmifRs  emeid efiest e
“ifRorer e @@ 156000 2TFG BLATE
PR T A IR Jarerd ACAEAT]
(e 9o RS erge 35471 | 10

The Board of Directors of ABC
Engineering Company Private Ltd.
requests you to prepare a statement
showing the Working Capital
Requirements for a level of activity of
156000 units of production.
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(5

RARIE ISR B EI SRR TR
The following information is available (o1
your calculations ;

A5 Sy 41 2E[B (Gp1)
Elements of Cost Amt. Per Unit (V)
CIBNTE /Raw Materials 90
SEP$ XY /Direct Labour 40
HONRE /Overheads 75
¥ ¥q /Total Cost 205
TS / Profit 60
ﬁ:ﬁi[ﬂl /Selling price 265

(1) 10 ST TGS AL, TG 9412
Raw materials are in stock, on
average 1 month

(i) STz offFwre e, sTe 2 Az
Materials are in process, on average
2 weeks

(i) TSER NN BIS ATF, WE GATS

Finished goods are in stock, on
average 1 month

(tv) TR Ffe 7 o, Tz
Credit allowed by suppliers,
1 month

(v) (RS @ = R w=u 7afs,
2 3%
Time lag in payment from debtors,
2 months
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(b)

(8)

(vi) TR TR Cvae o, 1Y TG
Lag in payment of wages, 1Y% weeks
(Vi) SSRCTT SfROMYR CFae 2fed, 992
Lag in payment of overheads is
1 month

20% TeAMA 5 479 ReRce (G 30 = | YS9
HE (@O 49 €9 60,000 5 @RE HHT
Cz@ | 4R T ARG @ (MR IRABS SR
ST Bl ACE, TGR SAF TOREES GIFa2 ol
= F 4 NG T S G e |

20% of the output is sold against cash.
Cash in hand and at bank is expected to
be ¥ 60,000. It is to be assumed that
production is carried on evenly
throughout the year, wages and
overheads accrue similarly and a time
period of 4 weeks is equivalent to a
month.

%<1/ Or
TS AR Jeree [ o 2w wAfmEe

AT 01 44 (I AT AT | 2+4+4=10

What do you mean by Inventory
Management? Explain any two major
techniques of Inventory Management.
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